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THMEEE FMEAKEXKERRIE(E1IR)

TEaERER

il | I & A HERUBKTE ]
€ #

DIP-GX ¢ 200 L=121.9m
DIP-GX ¢ 250 L=2.6m

1[EKEFTRIE(FEIKE) 8,853,652
DIP-GX ¢ 250 L=121.4m
DIP-GX ¢ 300 L=3.4m

2FKEMBZTIE(E2KE) 12,504,142
HPPE ¢75 L=84.9m

3@ K & O OH I B 1,516,375
PE ¢20, $25 L=25.1m N=6F7

4l K & @ OB I = 641,916
R—F—)LIi% 450A L=2.6m
RI)—F—JLIL 400A L=2.6m

5.|HE & I FE(R—F—/LI% 300A L=2.6m 4,150,470
DIP-GX ¢ 250(%527KiE) L=6.7m
DIP-GX ¢ 200(%517KiE) L=6.6m

6.l # & N B % I =E[DIP-GX ¢75FEIKE) L=74m 2,611,751
PP $50 L=43.0m
PP $30 L=550m

1R % & Kk & # % I E|PP ¢$20 L=1.0m 991,432
PP ¢13, $20 L=172m N=6F

8l % # K & @ &% I = 111,515

B # I E & 31,381,253




THMEEE FMEAKEXKERRIE(E1IR)

il | I # A HBERUBRKRTE z &

# & R &F B ( ) 3,270,000
ZE8MERR~1X

9.[:& % & 72,765
BAKARE~1R

10.[#% it 53 B & 136,824

#*# B X ®H B Hi 3,479,589

ol T S & 34,860,842




THMEEE FMEAKEXKERRIE(E1IR)

e &% Al I # 3 RERUEBRTE
€ B
i 5 & H & 10,890,000
T = I i 45,750,842
- K& & = % 8,399,158
T = i % 54,150,000
H OE B M #|10% 5,415,000
T 3 k=4 59,565,000




	しおり(KGM103105.OVD)

